Michael A. Condyles (VA 27807) Peter J. Barrett (VA 46179) Jeremy S. Williams (VA 77469) Brian H. Richardson (VA 92477)

KUTAK ROCK LLP 901 East Byrd Street, Suite 1000

Richmond, Virginia 23219-4071 Telephone: (804) 644-1700 Facsimile: (804) 783-6192

Counsel to the Reorganized Debtors

IN THE UNITED STATES BANKRUPTCY COURT FOR THE EASTERN DISTRICT OF VIRGINIA RICHMOND DIVISION

)	
In re:)	Chapter 11
)	
PIER 1 IMPORTS, IN	NC., et al., 1)	Case No. 20-30805 (KRH)
)	
	Reorganized Debtors.)	(Jointly Administered)
	-)	·

AGENDA FOR MATTERS SCHEDULED FOR HEARING ON JANUARY 28, 2021, AT 1:00 P.M. (PREVAILING EASTERN TIME)

PLEASE TAKE NOTICE that the following matters are scheduled for hearing by remote video² on January 28, 2021 at 1:00 p.m. (prevailing Eastern Time):

I. RESOLVED MATTERS

1. "Second Omnibus Objection" Reorganized Debtors' Second Omnibus Objection to Certain (A) Amended Claims, (B) Cross-Debtor Duplicate Claims, (C) Exact Debtor Duplicate Claims, and (D) Substantive Duplicate Claims [Docket No. 1101]

Pending Responses: None

Related Documents:

A. Order Granting Reorganized Debtors' Second Omnibus Objection to Certain (A) Amended Claims, (B) Cross-Debtor Duplicate Claims, (C) Exact Debtor Duplicate Claims, and (D) Substantive Duplicate Claims [Docket No. 1191]

The debtors in these chapter 11 cases, Pier 1 Imports, Inc. and its debtor affiliates (the "<u>Debtors</u>") along with the last four digits of each Debtor's federal tax identification number, are set forth in the *Order (I) Directing Joint Administration of Chapter 11 Cases and (II) Granting Related Relief* [Docket No. 76]. The location of the Debtors' service address is P.O. Box 961020, Fort Worth, TX 76161-0020, or for delivery by Airborne, Federal Express and other Courier Services: 685 John B. Sias Memorial Parkway Suite 255, Fort Worth, TX 76134.

Parties who wish to attend the hearing, but do not intend on participating (listen-only), may attend the hearing by using the following dial-in instructions: Phone Number: 1-866-590-5055; Access Code: 4377075; Security Code: 12821. Interested parties who wish to participate by video may do so by registering in advance at: https://www.zoomgov.com/meeting/register/vJlsceChrzItEpT3ey40mk8WnYnfX9qd0T4.

Status: With respect to all claimants for which a response was not timely filed or alternative treatment was not otherwise agreed to, an order granting the

II. <u>UNCONTESTED MATTERS</u>

2. "Fifth Omnibus Objection" Reorganized Debtors' Fifth Omnibus Objection to Certain (A) Exact Duplicate Claims, (B) Insufficient Documentation Claims, (C) Amended Priority Claims, (D) No Liability Claims, (E) Reduced Amount Claims, and (F) Satisfied Claims [Docket No. 1179]

relief requested was previously entered by the Court.

Pending Responses:

A. Response of University Shopping Center, LLC to Debtors' Fifth Omnibus Objection to Certain Claims [Docket No. 1206]

Related Documents: None

Status: With respect to the response filed by University Shopping Center, LLC [Docket No. 1206] this matter is being adjourned to the omnibus hearing scheduled for February 25, 2021.

This matter being adjourned with respect to certain claimants as set forth on **Exhibit A.** With respect to all other claimants for which a response was not timely filed or alternative treatment was not otherwise agreed to, an order granting the relief requested was previously entered by the Court.

III. CONTESTED MATTERS

3. "Sixth Omnibus Objection" Reorganized Debtors' Sixth Omnibus Objection to Certain (A) Amended Claims, (B) Exact Duplicate Claims, (C) Insufficient Documentation Claims, (D) Amended Priority Claims, (E) Reduced Amount Claims, (F) Satisfied Claims, and (G) Reduced and Reclassified Claims [Docket No. 1237]

Pending Responses:

- A. Response of Winter Haven Citi Centre, LLC to the Reorganized Debtors' Sixth Omnibus Objection to Claim 50489 [Docket No. 1246]
- B. Response of Loloi, Inc., to Reorganized Debtors Sixth Omnibus Objection to Certain (A) Amended Claims, (B) Exact Duplicate Claims, (C) Insufficient Documentation Claims, (D) Amended Priority Claims, (e) Reduced Amount Claims, (F) Satisfied Claims, and (G) Reduced and Reclassified Claims [Docket No. 1247]

A. Response of Jacques Holdings, LLC and KBJEN WI Land, LLC to Debtors' Sixth Omnibus Objection to Claim 50014 [Docket No. 1248]

Related Documents: None

<u>Status</u>: With respect to the response filed by Loloi, Inc. [Docket No. 1247] this matter has been resolved.

With respect to the responses filed by Winter Haven Citi Centre, LLC [Docket No. 1246] and Jacques Holdings, LLC and KBJEN WI Land, LLC [Docket No. 1248], this matter is being adjourned to the omnibus hearing scheduled for February 25, 2021.

This matter has also been resolved or is being adjourned with respect to certain claimants as set forth on **Exhibit B.** With respect to all other claimants for which a response was not timely filed or alternative treatment was not otherwise agreed to, an amended order granting the relief requested has been or will be submitted to the Court for entry.

Dated: January 26, 2021 Richmond, Virginia

/s/ Jeremy S. Williams

Michael A. Condyles (VA 27807) Peter J. Barrett (VA 46179) Jeremy S. Williams (VA 77469) Brian H. Richardson (VA 92477)

KUTAK ROCK LLP

901 East Byrd Street, Suite 1000 Richmond, Virginia 23219-4071 Telephone: (804) 644-1700 Facsimile: (804) 783-6192

Email: Michael.Condyles@KutakRock.com

Peter.Barrett@KutakRock.com Jeremy.Williams@KutakRock.com Brian.Richardson@KutakRock.com

Counsel to the Reorganized Debtors

EXHIBIT A

CLAIM NUMBER	CLAIMANT	BASIS OF OBJECTION	TREATMENT
10627	COLUMBIA CAMERON VILLAGE LLC	Insufficient Documentation Claim	Adjourned to February 25, 2021
444	DALIAN JINNEE HOUSEWARES CO LTD	Misclassified Claims	Adjourned to February 25, 2021
10624	EQUITY ONE (NORTHEAST PORTFOLIO) LLC	Insufficient Documentation Claim	Adjourned to February 25, 2021
315	FUZHOU RIRONG IMPORT & EXPORT CO LTD	Misclassified Claims	Adjourned to February 25, 2021
10651	FW IN-WILLOW LAKE WEST LLC	Insufficient Documentation Claim	Adjourned to February 25, 2021
10363	LONG BEACH SHOPPING CENTER L.L.C.	Insufficient Documentation Claim	Adjourned to February 25, 2021
752	MINHOU MINXING WEAVING CO LTD	Misclassified Claims	Adjourned to February 25, 2021
743	MINHOU TAXI ART & CRAFTS CO LTD	Misclassified Claims	Adjourned to February 25, 2021
10643	RB SCHEREVILLE CROSSINGS LLC	Insufficient Documentation Claim	Adjourned to February 25, 2021
10232	REALTY INCOME CORPORATION (MONROE)	Insufficient Documentation Claim	Resolved
10233	REALTY INCOME CORPORATION (TAMPA)	Insufficient Documentation Claim	Resolved
10644	REG8 SEQUOIA STATION	Insufficient Documentation Claim	Adjourned to February 25, 2021
10650	REGENCY CENTERS LP	Insufficient Documentation Claim	Adjourned to February 25, 2021
10640	SANDY SPRINGS PLAZA ASSOCIATES LP	Insufficient Documentation Claim	Adjourned to February 25, 2021
50167	UNIVERSITY SHOPPING CENTER LLP	Misclassified Claims	Adjourned to February 25, 2021
10652	WILLOWS CENTER CONCORD LLC	Insufficient Documentation Claim	Adjourned to February 25, 2021
10653	WOODHOLME PROPERTIES LIMITED PARTNERSHIP	Insufficient Documentation Claim	Adjourned to February 25, 2021

EXHIBIT B

CLAIM NUMBER	CLAIMANT	BASIS OF OBJECTION	TREATMENT
50673	BRE RETAIL RESIDUAL OWNER 1 LLC T/A CENT	Misclassified Claims	Adjourned to February 25, 2021
50426	BRIXMOR BERKSHIRE CROSSING LLC	Reduce & Reclassify	Adjourned to February 25, 2021
50705	BRIXMOR GA COBBLESTONE VILLAGE AT ST AUG	Insufficient Documentation Claims	Adjourned to February 25, 2021
50704	BRIXMOR/IA CLEARWATER MALL LLC	Satisfied Claims	Adjourned to February 25, 2021
50357	CROWN POINT PROPERTIES LLC	Reduce & Reclassify	Adjourned to February 25, 2021
10629	CURIO CRAFTS	Misclassified Claims	Adjourned to February 25, 2021
50218	CURIO CRAFTS	Misclassified Claims	Adjourned to February 25, 2021
50379	DDR WALKS AT HIGHWOOD PRESERVE I LLC	Reduce & Reclassify	Adjourned to February 25, 2021
10694	DILEEP INDUSTRIES PVT LTD	Misclassified Claims	Adjourned to February 25, 2021
11065	DILEEP POTTERIES PVT ITD	Misclassified Claims	Adjourned to February 25, 2021
50225	DILEEP POTTERIES PVT LTD	Misclassified Claims	Adjourned to February 25, 2021
50425	FOREST PLAZA LLC	Reduced Amount Claims	Resolved
50549	G&I IX PALM VALLEY PAVILIONS LLC	Insufficient Documentation Claims	Adjourned to February 25, 2021
50415	GABRELLIAN PLAZA RIDGE LLC	Satisfied Claims	Adjourned to February 25, 2021
11025	HENDERSONVILLE (HIGHLANDS) WMS LLC	Misclassified Claims	Adjourned to February 25, 2021
10149	INDIAN CRAFTS	Amended or Superseded Claims	Adjourned to February 25, 2021
10677	INDIAN CRAFTS	Amended or Superseded Claims	Adjourned to February 25, 2021
50221	INDIAN CRAFTS	Reduced Amount Claims	Adjourned to February 25, 2021
50497	IRC BAYTOWNE SQUARE LLC	Insufficient Documentation Claims	Adjourned to February 25, 2021
50506	IRC RAVINIA PLAZA LLC	Insufficient Documentation Claims	Adjourned to February 25, 2021
50512	IRC RIVERTREE COURT LLC	Insufficient Documentation Claims	Adjourned to February 25, 2021
50719	IRC RIVERTREE COURT LLC	Insufficient Documentation Claims	Adjourned to February 25, 2021
50515	IRC UNIVERSITY CROSSINGS LLC	Insufficient Documentation Claims	Adjourned to February 25, 2021
50021	IREIT BRANSON HILLS LLC	Satisfied Claims	Resolved
50133	KRIEGER PROPERTIES	Reduced Amount Claims	Resolved
10722	LI & FUNG (TRADING) LIMITED	Insufficient Documentation Claims	Adjourned to February 25, 2021
50208	LI & FUNG (TRADING) LIMITED	Insufficient Documentation Claims	Adjourned to February 25, 2021
50163	LOLOI INC	Misclassified Claims	Resolved
10619	MALANI IMPEX INC	Misclassified Claims	Adjourned to February 25, 2021
50220	MALANI IMPEX INC	Reduced Amount Claims	Adjourned to February 25, 2021
50514	MCP VOA I & III LLC	Satisfied Claims	Adjourned to February 25, 2021
50374	MEADOWS SHOPPING CENTER 05A LLC	Reduce & Reclassify	Adjourned to February 25, 2021
50123	ML-CFC 2007-7 NORTH 46TH STREET LLC	Reduce & Reclassify	Adjourned to February 25, 2021
50475	MLM CHINO PROPERTY LLC	Reduced Amount Claims	Adjourned to February 25, 2021
11401	NATIONAL RETAIL PROPERTIES INC	Reduce & Reclassify	Resolved
50672	NEWTOWN PLAZA VILLAGE ASSOCIATES LP	Reduce & Reclassify	Adjourned to February 25, 2021
745	NINGBO CNACC IMP & EXP CO LTD	Amended or Superseded Claims	Adjourned to February 25, 2021 Adjourned to February 25, 2021
50198	NINGBO KEMAO IMP & EXP CO LTD	Insufficient Documentation Claims	Adjourned to February 25, 2021 Adjourned to February 25, 2021
50394	OTR	Reduce & Reclassify	Resolved
	PPR SQUARE TOO LLC		Adjourned to February 25, 2021
30200		Reduce & Reclassify	Adjourned to February 25, 2021 Adjourned to February 25, 2021
10713 11492	PUBLIC STORAGE INC	Satisfied Claims Misclassified Claims	Resolved
	RECOUPEX GMBH REGENCY CENTERS LP		Resolved
50454 50568	RETAILMENOT INC	Misclassified Claims Insufficient Documentation Claims	Adjourned to February 25, 2021
		Misclassified Claims	Resolved
50696	RIVER HILLS SHOPS LLC		
11538 50438	ROCKAWAY TOWN PLAZA LLC SHOPS AT BELLA TERRA OWNER LP	Reduce & Reclassify Insufficient Documentation Claims	Resolved Adjourned to February 25, 2021
30227		Reduce & Reclassify	Adjourned to February 25, 2021 Adjourned to February 25, 2021
	SHOPS OF FAIRLAWAL BETAIL LLC	· · · · · · · · · · · · · · · · · · ·	, , ,
50327	SHOPS OF FAIRLAWN RETAIL, LLC	Reduce & Reclassify	Resolved Resolved
50434	SUNLAND PARK MALL LLC	Reduce & Reclassify	
50444	SUP I WESTGATE LLC	Reduce & Reclassify	Adjourned to February 25, 2021
50505	UE YONKERS II LLC	Reduce & Reclassify	Adjourned to February 25, 2021
50412	VESTAL SHOPPES LLC	Insufficient Documentation Claims	Objection Withdrawn
11539	WATERFORD LAKES TOWN CENTER LLC	Reduce & Reclassify	Resolved
50489	WINTER HAVEN CITI CENTRE LLC	Reduce & Reclassify	Adjourned to February 25, 2021
30089	YORK TOWN CENTER HOLDINGS LP	Insufficient Documentation Claims	Resolved
10378	ZHUHAI FREE CLOUD ARTS CO. LTD.	Reduced Amount Claims	Adjourned to February 25, 2021